Bose lkard Structural Cross Section
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300153238700 men 300153221600 s 300153070200 13078 0 mur?m
MURCHISON 080 INC MMD&C coo \TING LLC Ol & Gas L}
GRIZZLY BEAR STATE | YOOI BEAR SWO 1 CONOCO 8 STATE COM | BEAR DRAW STATE COM 1
810 FSL 1800 FEL 1750 FNLSSO FEL 1650 FSL 1550 FEL G660 FNL 1980 FEL
TWP 17 S-Range 28E-Sec | TWP 1T S- Range. 28 € - Sec. 12 TWP AT S-Range 29E - Sec. § TWP 1T 8- Range 29 E - Sec. 3

UL In

BEFORE THE OIL CONVERSATION
V- N KO DIVISION
a CONCHO Santa Fe, New Mexico
Exhibit No. 8
Submitted by: COG OPERATING LLC
Hearing Date: October 1,2015



300153238700 2794 ft

2t ¢
i MURCHISON O&G INC
GRIZZLY BEAR STATE 1
810 FSL 1800 FEL
TWP: 17 S - Range: 28 E - Sec. 1

300153221600 9533 ft 300153070200 13075 ft 300153567900

> o
MURCHISON OIL & GAS INCORPORATED
BEAR DRAW STATE COM 1
660 FNL 1980 FEL
TWP: 17 S -Range: 29 E - Sec. 3

COG OPERATING LLC
CONOCO 8 STATE COM 1
1650 FSL 1550 FEL
TWP: 17 S -Range: 29 E - Sec. 8

MURCHISON O&G INC
YOGI BEAR SWD 1
1750 FNL/660 FEL
TWP: 17 S-Range: 28 E - Sec. 12

TD=10797.00

-
Iz
= 3700 3 i 2 !
\J { . —
OG LORIETA ‘ . 0
, A z
| \ : i e ‘ ; 3800
- | > 3800- 5
0 3 P Y K]
ke 2 % ¥ 3
.~ .‘ —
. = 3 QR AN,
3900 = —
g s Souu T 0000 15
3900 5 = — ) T \" l
— x § > | e il -” .’L cn (r ’A - ]
PA D D 0 C K : : . : 9 :
y P [
: 3 : E = ’ ‘ |
. : . : - 3900 2
F 4000 ; - 3900 ° 3
4000 L . . i
— ; 2 - - p—
d ; '.
- ‘ -
; <
b N 4000
; 4100 4000 3T
4100 % 3
I o : i —
2 .' )
)
3 K it gt : ==
. = 4100 5t ~
: , 4100
4200 + ¥ .
) : 3 o i ] |
500 = = -500
: £
R
X 4300 | % 4200 ; : — i
4300 3 3 5
: K
) 2 A - 3 |
:'; [ ‘. } A ':
o > 4400 3 ) & :
= ; 4300
4400 5
‘ 2 - b 2 I
'} £ 7] &3] |€ |
. :o Ef_:r. I i) n
; i - i : 4400 -
2 - : .
4500 i 3 : g ;
l. :— } :
& i : o ::
3 (3 s =
4600 N Y > - i 4500 .
4600 ras : : : - .E.
r 5 4 _
BLINEBRY : : -
<] " 3
% K AT -
X - - 4600
: 4700 X 4600 Y
4700 o <
- -1000 5 i 5 : i -1000 -
l_t .? 'y ~
: - ; . :
H 4800 & 4700 * o :
4800 £ : i 8 :
¢ . - ~F B { —
5 e :
2 A ]
.. h &
; o ; B 4800
4900 3 : o : o i |
2 2 1?; [ [
il - T- ‘. j
3 ; 5 ] g
K : ' :
: : | :
: : 4900
: 5000 4900 = f> ) £
5000 X 2 .
k : & . —
s 3
[d b. : ¥ H i
- > }. :
; 5100 7 5000 3 : = =
5100 S N k.
0 > 5 | : -
[ 3 e ] ;
4 N : :
T |- - . -
v ra ra : 3 >
: . L B, :
T U B B 3 = o e X a :
1 O 5200 2 B A
o ‘: i , -1500
: 3 :‘;‘. [oes] 2
1= '- ‘5‘ 5
5300 - = . - 5200
TD=10506.00 e S i 3
« L i ..\“ | '
TD=10620.00 : !
W jf
5300 £ 1'
5300 : 4 =
%
o
¥ 5400 2
5400 . - .
Z
:JT ]
TD=10920.00 T




